Ratio to CMS

1000/c do)/dm [1/GeV]

10

[EEN

[EEY

0.5

7000 GeV pp Jets
§| T T T T ] L L L L L |§
| Pruned dijet mass (anti-k (0.7), 220<p_<300, |y|<2.5) __
S TR e g ]
= - N =
— ‘B 7]
= 2. =
; ‘Q::\ ;
= 2 =
~  m CMs ‘ -
= --0-- Herwig++ 2.7.1 default o3
~  ---- Herwig 7.2.1 default —
? | | | | | | | | ' | | | | ! | | | E
:l T T T T | T T T T | T T : T T | |:
X 5 -
- ® ¢ |-
B S i ]
i - :
I LT N ]
u §a -
| s | |

| 1 1 1 1 " | " 1 1 1 1 " | " I\ :l, 1 " 1 1 " | " 1
0 50 100 150

Rivet 3.1.10, = 2.8M events
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